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Isoveli I. Lakas

Kamra - 0. em. 1.09 m2

Nappali + konyha + 31 m2
étk. - 0. em.

Osszesen

Gépészeti hg. - 1. 1.89 m2
em.

Szoba 2-1.em. 13.71 m2

Szoba 4 -1.em. 11.00 m2

Isoveli adatlap




Isoveli Il. Lakas

Koézlekedd - 0.em.  6.53 m2
Kamra - 0. em. 1.09 m2
Tusol6 - 0. em. 3.07 m2

Nappali + konyha + 31 m2
étk. - 0. em.

Szoba 1 - 0. em. 13.27 m2
Osszesen 54.94 m2

Firdd - 1. em. 5.20 m2

Gépészeti hg. - 1. 1.89 m2
em.

Kozleked6 - 1.em.  5.91 m2
Szoba 2 - 1. em. 13.71 m2
Szoba 3 - 1. em. 12.69 m2
Szoba 4 - 1. em. 11.00 m2

Osszesen 50.39 m2

210.8 m2
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